2. Bl BiE OBl E CoR R LIRE O RE (BiR)

6h 12h  24h  48h

- 199 -

(1)Na
BEFE(B) g M 1 == M2 BRE(X) — —Fi =)
/L) —=M3 == M4 (mEa/)  =a=F3  ==F4
B
145 ’ 145
135 143
125
105 139
0 6h 12h
i;ﬁ(%) NI R Tk i;ﬁ(k) e [ ] oo ) e £3
sg‘gq/i_) g%iq/L) B
140 140
130 130
120 120
110 110
0 6h 12h 24h 48h 0 6h 12h 24h 48h
SEM " SR
'ﬁ*{h(%) *M4 %«%@ME M6 'Eﬂl’\(#) *F4 Wm%vmvr:f) s F6
(mEq/L) %TEq/L)
145 135
135
125 125
115 115
105 105
0 6h 12h 24h 48h 0 6h 12h 24h 48h
= =1 =
=E(8) -+ =M (%) | oty
{(mEq/L) %gﬁq/L)
145
135 140
125 130
115 120
105 110

6h 12h  24h  48h




BEE(H) TERE (X&)
§615q/ L) ~ éréw E(E)q/ L)
40.0 400
30.0 30.0
20.0 20.0
10.0 10.0
0.0 0.0 !
0 0 6h  12h  24h  48h
BiE(R) i (%)
a’/L) (mEqg/L)
§§'§ 40.0
30-0 30-0
20.0 20.0
10.0 100 | W
0.0 00 &
0 6h 12h 24h  48h
H NG N \ SR () .
(mEq/L) M4 M3 M6 (mEqg/L)
[ 40.0
40.0 y 300
20.0 200
- 10.0 .
0.0 Bl R~ 0.0 F e
0 6h  12h 24h  48h 0 6h  12h  24h  48h
érBEq/ L) érBEq/ L
"~ (M1024h. 48h ' (/F10)24h~48h ‘]’\
7.0 | M2(D48h(E>10.0 70 LF2048hiZ>10.0
5.0 5.0
3.0 3.0
0 6h 12h 24h  48h 0 6h  12h  24h  48h

- 200 -




BRE(X)  —F1 =P
{gEa/L) - =&=F3 <= F 4
105
100
95
90
EW(B) eapE ER (%) B BE o
~ 103
102
97 98
9 2 i : : Y 9 3 SR
0 6h  12h 24h  48h 0 6h 12h 24h  48h
=ZH(SH) =M =H (k)
» o] =2
(mEqg/L) 7 s N 2 (mEqg/L)
106
100 104
102
95 100
08
20 96
0 6h 12h 24h  48h 0 6h 12h 24h  48h

- 201 -




BEE(B) === M1 =&=-M2 BRE (%) ==F1 =&=-F2
(g/dL) e M3 == M4 (me/dL)  ehe=F3 = A
9.0 = 9.0 =
7.0 7.0
50 50
3.0 3.0
0 6h  12h  24h  48h 0 6h  12h  24h  48h
AR ey w2 —M3 A R e i
(mg/dL) 56'6/(:“_)
8.0
8.0
6.0 6.0
40 40
SEHN ' SEMN '
BR(B) eyt M5 MB L R
%Té/dL) (mg/dL)
‘ 9.0
9.0
70 7.0
50 5.0
30 3.0
0 6h 12h 24h  48h
=H(E) M =H(%x) —F{ =2
178 78
9.0 00 | B
70
50 7.0
3.0 50
0 6h 12h 24h  48h

- 202 -



(5) FEBRY

B (5H)

(mg/dL)

300
200
10.0

0.0

24h  48h

P

20.0
15.0
100

50

R (%) —0—M1 M2 M3

0.0

i

EW (5B
éré\%/d!_)

20.0
10.0

0.0

24h  48h

=ZH(B)

===M2

él‘él%/ dL)

20.0
100

0.0

6h

12h

24h  48h

- 203 -

BE (X&) i and B =2

(mg/dL) === F3 =SE=F4
30.0
200
10.0
0.0

50

=H(Xk)

0.0

R (K)  gmpy —mpp —aF3

b

20.0
15.0
10.0

0.0

0 6h 12h  24h  48h

E (%)
éagdu

20.0

100

0.0

0 6h 12h  24h  48h

—o=F1{ =f=F2

ér%w%/ dL)

200
15.0
10.0

5.0

0 6h 12h  24h  48h




P M 4

Him(B)
(au/L)
290

240
190
140

SR ()
Lo

$==M4 =iZ=M5 — M6

350
300
250
200
150
100

=H(5)

(u/L)

24h  48h

=== M2

460
360
260
160

BEE (&) =¢=F1  =fli=F2

Rl (&) e
/L) —$=F1 —oF2 —eF3

230

180

130

- 204 -

B (%) e i ER

300
250
200
150

i‘,ﬁ)(ﬁ) —o=F1 a@%»rrzé
450
350
250
150




(7)ALP

BE(B) ——M1  =E=M2 BERE (&) e | —=F
(/L) == M3 =He=M4 (LD i == F4
310 F s TS
260 170
210 !-.":.::m 150
160 T | 130

0 6h 12h 24h 48h
?ﬁ)(%) =M1 =l=M2 ~2—M3 iﬁ)(#) -

6 |

250 | w . ==
210 L = =5 T 160
19 p——t——g gt e
170 : 110 L : e

0 6h 12h 24h 48h 0 6h 12h 24h  48h
N \ by \
EW(B) M6 B (%) e P GG oo FG
() (L)
10— J —

180 - Wiﬁwww%%%

2 ,
160 140

0 6h 12h 24h  48h 0 6h 12h  24h  48h
=H (%) M ZE &) I
A - 55t
190 190
180 180
170 170
160 160
150 : * : 150

0 6h 12h 24h  48h 0 6h 12h 24h  48h

- 205 -



(8) 77—

B (5)

%I&{L)

80
60

40

g/ L)

=i (5B)

80
75
70

65

F(B)

M4 =E=M5 M6

80
70
60

%HL)
90 |

50

(1u/L)

=H(5E)

65

60

55

%

~ 6h

12h  24h  48h

- 206 -

Eﬁ(j{) e [ ] e 0
sLH{L) weggoa [ 3 wadifem 4
100
90
80
70
60
50
0 6h 12h  24n  48h
Rl (R) o py w2 —aF3
éIU/L)
S
50
30
0 6h 12h 24h 48h
SE A
§IU/L) z
0
70
60
0 6h 12h 24h 48h
=H (&)
sgl/L)
L
60
50 :
40 : "

6h 12h  24h  48h




(9eyrey

BRE(SH) ——M1 —=—M2 B (%) ——F1 - -
(mg/dL —A—M3  —%—-M4 1 O(mg/dL) —h—F3 —¥—F4
10 | Z 0.9
0.8
08 07
06 06 ¢ /
05 &
04 04
0 6h  12h  24h  48h 0 6h  12h  24h  48h
= (5 ——M1 —B—=M2 —&~M3 R (%) ——F1 ~E—F2 —&—F3
(mg/dL) (mg/dL)
08 038
07 | E————a—= 07 | it ‘
06 N \
0.6
05 W /Wi
04 . 05 . * ¢ * *
03 ‘ 0.4
0 6h  12h  24h  48h 0 6h  12h  24h  48h
3 5 BN 1
{mg/dL) (mg/dL)
1.2 ~ . S '3
1.1 / .
09 09
08
07 |-m- 07
0.6 05
0 6h  12h  24h  48h 0 6h  12h  24h  48h
=B Th R
- m
08¢ 07
06 | 0—4——/—_‘ 0.6 ® \ =
0.4 = 05
02 : 04

6h 12h 24h 48h

- 207 -

0 6h 12h 24h 48h




(10)TSH

BRE(E) =M -E-M2 BE(X)  =~F1 -8
40 | eI —

30 | p g b

B T —— "=

1.0

35
2.5
15
0.5

R (B) oy M2 —3 Rl (%)

25 4.5
2.0 3.5
15 2.5
1.0 ‘ s 1.5
0.5 0.5

N \ N \

25
3-5 7., . = - "\%‘%a%’“
25 20

15| et | | ¢

=H(3) M =H((X) ——F1 —-F2

. - :2.5
1.2 /,.__/\ 20 \———“N
1.1

10 B ;@’ g S e w%%% 15
0.9 - 10 LT

0 6h 12h  24h  48h 0 6h 12h  24h  48h

W
g
[

- 208 -




(11)Free T,

B (5B)

—h bk kb —— —
o=hMwhruoo

R (5)
14
13
1.2
1.1

1.0

R (58)

— ok ko, —
oO=dwhUI®

- 209 -

%E(#) b aad ol anffe 2
1.4 T TR
1.3
1.2
1.1 &
1.0

0 6h 12h 24h  48h
HiE (&)
1.2
1.1
1.0 oS,
0.9 =

0 6h 12h  24h  48h
SE N '
IE*’A(#) WFGEV
1.4 \ .
1.3 a - -~
1.1
1.0 ‘___.___.—___-0—-0
0.9

0 6h 12h  24h  48h
1.7 /
1.5 o ) /‘\
1.3
1.1
09

6h 12h  24h  48h



(12)APTT

BRE(S)  —eMt —EeM2
(sec) = M3 == M4
35
30
P
25
20
0 6h  12h  24h  48h
Rl (%)

=M1 ==M2 =i=M3

(sec)
44

EW(5)

(sec)

M4 =E=M5 M8

34

32
30
28
26

24h  48h

= M2

24h

48h

B (%) ==F1 ~=-F2
(sec) == F3 == F4
36
31
26 %%%;%m@g%wﬁﬁﬂﬁ'
21

0 6h 12h 24h 48h
(sec)

0O 6h 12h 24h  48h
=H(X) —$=F{ =E=F2
gsec)

3

38

33

28

6h

12h

24h  48h

-210 -




(13)PT(INR)

0.92
" 0 6h  12h 24h  48h

BE(R) e V1 i M2 B (%) e ] el [
e M3 =3it= M4 K w4
1.39 1.28
1.29 1.18
1.19
109 1.08
0.99 0.98
0.89 0.88
B - ~, {
R (5) cn \ ] il 2 =t M3 g (%) =$=F{ ~E=F2 =d=F3
J
115 1.20
105 1.10
0.95 1.00
0.85 0.90
0.75 0.80
0 6h  12h 24h  48h
3 \ S \
1.40
130 1.22
1.20 1.12
110 |
1.00 1.02
0.90 — 0.92
0 6h  12h 24h  48h 0 6h  12h 24h  48h
= e 1 { =
Z@(B) ZH(%) o —F2
1.72 1.85
1.52 1.65
1.32 145
1.12 1.25
1.05

0 6h 12h  24h  48h

-211 -




(14) 747V )=

ERE(R) ==M1 ~f=M2
(mg/dL) “EeM3 M4
250 '
230
210
190
170
0 6h  12h 24h  48h
ig/ﬁ;é%) oM —l=M2 ==M3
290 |
240
190
0 6h  12h  24h  48h
3 \
BB oy M5 M6
{mg/dL)
260
210
160
=H((EB) ==M1
(mg/dL) ==M2
600
400
200 L— : 8 |
0 6h  12h 24h  48h

B (%)

(mg/dL)

310
260
210
160

i (%)

S;n(}%/dl“)

350
300

250

A (%)

{mg/dL)
280
270
260
250
240

=H(X)

(mg/dL)

0 6h 12h  24h  48h

—=F1 =i=F2

550
450
350
250

«A

= B .- 5
R 5 Sl

0 6h 12h  24h  48h

-212 -




(i)Na
BRE(B) —p=\2  =BM4 BRE(R) — =e=F —=F2
142 X
141 : ::> a
142 140
141 138 &
RENRT REN. 1R ENRI IRENR
g (5) = || wnfllem M2 = M3 R (%) =] =2 —dr=F3
fm5op {5
142 @ S 141
1 139 y—
140 [ e :
139 137
REN R RENR PRENAT REN.
L (B) 1—0—M4 == M5 M6 i (%) §~—F4 =f=F§ ~F6
%qu/ L) : %TFq/ L 5
143 = — 140  — —
142 |
141 B 139 =5
IRENRT RENtR IRENAT REhik
=H(B) =11 =H (%) -
gTEq/L) el M2 %TEQ/L) —F1 <m=F2
3 ol | e ————
14 WMWW% 142 =
142 e 141 Sy
141 140
IRENRT REN% RENRT RENTR

-213 -




(2)K

BRE(s)

(mEqg/L)

47

4.2

3.7

IRENHT RER

wim(5)

{mEgq/L)

i

e ] =l M2 == M3

40
3.8
3.6
3.4

EW(B)
&r‘HEq/L)

43
42

41

4.0

#RENAI RENR

=ZH(5)

(mEq/L)

REN AT REHR

- 214 -

BE(X) | —=F1 =8P
érBEq/L)
48
4.6
44
42
40

R ENET REH#R
Wi (&)
(mEq/L) e ] e ) emfyme 3
44
4.2
40
3.8
3.6

BB RB%
R ., -
(mEg/L)
45
4.3
4.1
3.9
3.7 :

wEET  RENR
=H(XK) ] =
(mEq/L)
44 |
42
4.0 G

S

38

RENHI RENR




(3)c1

BE(R) e \12 == \4 BE (%0) e | el
sﬁlgq/L) sz M5 == M6 sﬁ,gq/l_) o
o
103 104
102 103
101 102
RENET REN% RENAT REN&
R (H) E—o---g\/n e N2 = M3 i (%) e [0 =i ) esfpm 3
%dfq/L) %\gq/L)
106 : . 107
105 I< 106 e
104 105 N A
103 104
IR EN AT REni% R ENHT REH#R
5&*’&/'(_)%) 4 M5 M6 ég}/i)ﬁ) —tmF4 —E-F5 . Ff
q i
{k — o 105 o
105 104
104 103 i
103 102
,,,,,, IR ENA BN RENHI ke
=H(5H) =t=M1 =H (%) -
(mEq/L) %réléiq/L) =$=F1 <8=F2
105 G 105 /
103 104
101 .
= 103
99 102
IR ENH RENE IR ENHI RN

- 215 -




(4)Ca

EE(B) e |12 == \4 BRE(XZ)  =t=F1 s [
(mg/dL) % (mg/dL) s F3 == F 4
10.0 9.9 p s
95 9.4
9.0 8.9
IR Rk
& (5) ==\ =2 = M3 Rils (%) — F |
énég/dL) (mg/dL)
: — 9.6
9.4 T 9.4
¢ ® 9.2
9.2 — 90
F a
9.0 8.8
IRENRT RENZ IRENAT REN%
5 \ S \
BB g s ME BI(R)  ory cmps o Fo
(mg/dL) érgg/ dL)
9.2 = -
o 8.7 B
9.0 B 8.6 {
&= 8.5
88 PO 8.4 2 *
8.6 ‘ 8.3 ‘
RENR REIR PREhRT kBN R
=H(E) ==M1 =H(%x)
=] =E=F2
/dL .
g/ M2 {gg/dL)
39 = 100 \
08 |
9.7 gg
9.6 \ 9.4
95 | .
9.4 ‘ 9.2 : f &
IREAT 2 I IRBNAT R8I

- 216 -




(5) Y

BRE(R) e 12 = M4
§rge/dL) | == M5 “-%*”M6
42 ﬁ“
40

3.8

3.6

#RBIEI RENTR

i (5H)

§r.1}g/dL) ;
36 ® B
35
34 0
3.3

IRENH R

=904 ~E=M5 M6

3.6
3.5
34
3.3
3.2
3.1
3.0
RENHT RENR
=H((5B) M1
éﬁég/dL) %%W%Mz
3.3
3.2
3.1 . .
3.0
R ENRI kENk

- 217 -

HH (%)

S’fag/ dL)

BRE(X) =t=F1 ~&=F2
(mg/dL) === F3 e F4
4.1
3.9
3.7
35
3.3
2.9 ==
RENET RENE
iﬁ(#) e ] s ) emfpem 3
gn']lg/dL)
;3'9
3.8
3.7 -
3.6
IRENH RENR

=4=F4 ~<E=F5 ~~F6

41 5 —
3.9
3.7
35 -

IREIRT RS
:miﬁ)ﬁ) s | e 2
5 T
3.7 ¢ ®
36 ot
35 —

3.4
RENET RENR




(6)LDH

BE(H) —t=N2  =E=M4
10/L) e M5 == M6
AL I~
200 St
190
180
170
160
IRENAT keI
=il (5) o |1 mllllm 2 == M3
g%m
165
155
145 —a
135 L
IRENAT RENk
RIN(B) e
oL o M4 =E=M5 M6
180 =
160 - e
140
190
IREVAT REITR
=H(EB) e M 1
(1u/L) w=ties N2
185 |
183
181
179
177
IRENET RENR

- 218 -

BEFE (%) g [ { "
SO o 3 =¥e=F4
180
160
140
i’i(ﬁ) -] wEe ) i3
200 S |
180 -
160
140 = o
R RkENR
IE PN
230 — —
210
190
170
150
‘ IRED R &R
=H(x) —=F1] =iE=F2
au/L)
170 \
150
5
130 _u
IREAT B




